ORING| (193 319 3() Y DO NOT SCALE | -@ - - THRD ANGLE PROECTION|IF IN DOUBT ASK
Kit Contents - Part # 600-66810M
NEWALL  sce srecket i
For Spherosyn & Spherosyn LT Encoders with Scales <2540mm (100") Travel
Long Pillars Metric # 294—34580 (2) Support Link (2)
Anch [ 294—-60460 (2
Short Pillars Metric # 294—34570 (2) nehor pin 4 (2)
M5 x 40 Screw for Encoder (2) MS x 20 Hex Head Screw  (6)
M8 x 16 Button Head Screw (2)
Washer (2)
Shims (0.02” Peel Away) (2)
Cable Clamp 2 Cables (4)
M4 x 12 Socket Head Screw (8)
Cable Clamp Single Cable (4)
M4 x 12 Self Tapping Screw (8)
TITLE SCALE UNLESS OTHERWISE TOLERANCES: — O DECIMAL PLACES 0.5
KIT CONTENTS SHEET| o _______ ________ N /A STATED: - 1 DECIMAL PLACE 0.2
—[6/5/15[EoN34T8 | Descriptions added Cih DNENSIONS ARE IN M. Sk s
—7 [13/)/15{EN9459 (M4 x 12 Screws Added CWh {oRAWN |G WHITMORE |11-12-13 EW. Mg AL AR SHEET [DRAWING REV.
REV.SS.[DATE|C.N.No] ALTERATION RO LeicesterN ALLEngIand THE INORUATI TERQUUANO ERPEDRUSD 19 oF 4 | NUMBER 023—& 930 ISS. 2




